Th# M#&n(n) &n* +ont#.t o/ 0#n 12 3&4on 567(68 9:o7&


;# <no= th# <(n* o/ (nt#4#8t 0#n h&8 #:o<#* #:#n o6t8(*# 8>#c(&7(@#* *(8c(>7(n#8A 8(nc# 1#(n)
>o>67&4(@#* (n th# =#8t 12 B.T. D6@6<( th4o6)h h(8 1oo<8 Ent4o*6ct(on to 0#n 36**h(8F &n* 988&28 (n 0#n 36**h(8F. Th(8 >o>67&4 (nt#4#8t (8 *6# to th# >&4&*o.(c&7 #nco6nt#4 1#t=##n 9&8t &n* ;#8t. Th# &(7(n) ;#8t >#4c#(:#8 th&t 0#n h&8 8oF#th(n) G#.(8t#nt(&7G &n* 8644#&7(8t(c to o//#4. 0#nH8 not(on o/ & 8>(4(t6&7 4#&7(@&t(onA /4## /4oF &n2 /&(th &n* &n2 1on*A not to F#nt(on th# F(4&)# o/ &n (n8t&nt&n#o68 &n* 8oF#ho= )4&t6(to68 G8>(4(t6&7 14#&<th4o6)hGA h&8 #.#4c(8#* & /&8c(n&t(n) &tt4&ct(on on F&n2 ;#8t#4n#48. Io=#:#4A th(8 (8 t46#A /o4 th# Fo8t >&4tA on72 86>#4/(c(&772. Th#4# (8 & con8(*#4&17# *(//#4#nc# 1#t=##n th# 8>(4(t6&7 *(F#n8(on o/ th# G>h(7o8o>h2 o/ c4(8(8GA =h(ch h&8 1#coF# >o>67&4 (n th# ;#8t &8 & con8#J6#nc# o/ (t8 F&t#4(&7(8t(c &n* n(h(7(8t *#:#7o>F#ntA &n* th# 8>(4(t6&7 *(F#n8(on o/ 0#nA =h(ch h&8 1##n 4oot#* (n th# 8>(4(t6&7(t2 o/ th# 36**h(8t t4&*(t(on. Kn2 t46# #nco6nt#4 1#t=##n 0#n &n* th# ;#8tA >4#86>>o8#8A (n & ;#8t#4n#4A #(th#4 &n #.c#>t(on&7
>4#*(8>o8(t(onA o4 th# c&>&1(7(t2 to o>#4&t# & F#t&no(&. 32 F#t&no(& E F#&n &n (nn#4 t64n&1o6tA &//#ct(n) not 8o F6ch on#H8 (nt#77#ct6&7 G&tt(t6*#8GA 16t 4&th#4 & *(F#n8(on =h(ch (n #:#42 t(F# &n* (n #:#42 >7&c# h&8 1##n conc#(:#* &8 & *##>#4 4#&7(t2.


0#n h&8 & 8#c4#t *oct4(n# &n* not to 1# /o6n* (n 8c4(>t64#8. Et =&8 >&88#* on 12 th# 36**h& to h(8
*(8c(>7# M&h&<&88&>&. Th(8 8#c4#t *oct4(n# =&8 (nt4o*6c#* (n +h(n& &4o6n* th# 8(.th c#nt642 +.9. 12 3o*h(*h&4F&. Th# c&non =&8 t4&n8F(tt#* (n +h(n& &n* 5&>&n th4o6)h & 86cc#88(on on t#&ch#48
&n* G>&t4(&4ch8G. En 5&>&n (t (8 & 7(:(n) t4&*(t(on &n* h&8 F&n2 &*:oc&t#8 &n* n6F#4o68 0#n*o8 LGI&778 o/ M#*(t&t(onGM.


K8 /&4 &8 th# 8>(4(t (n/o4F(n) th# t4&*(t(on (8 conc#4n#*A 0#n F&2 1# con8(*#4#* &8 & cont(n6&t(on o/ #&472 36**h(8F. 36**h(8F &4o8# &8 & :()o4o68 4#&ct(on &)&(n8t th# th#o7o)(c&7 8>#c67&t(on &n* th# 8h&77o= 4(t6&7(8F (nto =h(ch th# &nc(#nt I(n*6 >4(#8t72 c&8t# h&* *#)4&*#* &/t#4 >o88#88(n) & 8&c4#*A
7(:#72 =(8*oF 8(nc# &nc(#nt t(F#8. 36**h& F&* t&167& 4&88& o/ &77 th(8N h# /oc68#* (n8t#&* on th#
>4&ct(c&7 >4o17#F o/ ho= to o:#4coF# =h&t (n th# >o>67&4 F(n* (8 4#/#44#* to &8 G7(/#H8 86//#4(n)G. Kcco4*(n) to #8ot#4(c t#&ch(n)8A th(8 86//#4(n) =&8 con8(*#4#* &8 th# 8t&t# o/ c&*6c(t2A     4#8t7#88n#88A Gth(48tG &n* th# /o4)#t/67n#88 t2>(c&7 o/ o4*(n&42 >#o>7#. I&:(n) /o77o=#* th# >&th 7#&*(n) to 8>(4(t6&7 &=&<#n(n) &n* to (FFo4t&7(t2 =(tho6t #.t#4n&7 &(*A 36**h& >o(nt#* th# =&2 to tho8# =ho /#7t &n &tt4&ct(on to (t. Et (8 =#77 <no=n th&t 36**h& (8 not & n&F#A 16t &n &tt4(16t# o4 & t(t7# F#&n(n) Gth# &=&<#n#* On#GA GI# =ho h&8 &ch(#:#* #n7()ht#nF#ntGA o4 Gth# &=&<#n(n)G.
36**h& =&8 8(7#nt &1o6t th# cont#nt o/ h(8 #.>#4(#nc#A 8(nc# h# =&nt#* to *(8co64&)# >#o>7# /4oF &88()n(n) to 8>#c67&t(on &n* >h(7o8o>h(@(n) & >4(F&c2 o:#4 &ct(on. Th#4#/o4#A 6n7(<# h(8
>4#*#c#88o48A h# *(* not t&7< &1o6t 34&hF&n Lth# &18o76t#MA o4 &1o6t KtF&n Lth# t4&n8c#n*#nt&7 D#7/MA 16t on72 #F>7o2##8 th# t#4F n(4:&n&A &t th# 4(8< o/ 1#(n) F(86n*#48too*. DoF#A (n /&ctA tho6)htA (n th#(4 7&c< o/ 6n*#48t&n*(n)A th&t n(4:&n& =&8 to 1# (*#nt(/(#* =(th th# not(on
o/ Gnoth(n)n#88GA &n (n#//&17# &n* #:&n#8c#nt t4&n8c#n*#nc#A &7Fo8t 1o4*#4(n) on th# 7(F(t8 o/ th# 6ncon8c(o68 &n* o/ & 8t&t# o/ 6n&=&4# nonP1#(n). DoA (n & /64th#4 *#:#7o>F#nt o/ 36**h(8FA =h&t occ644#* &)&(nA F6t&t(8 F6t&n*(A =&8 #.&ct72 th# 8(t6&t(on &)&(n8t =h(ch 36**h& h&* 4#&ct#*Q

36**h(8F 1#c&F# & 4#7()(onA coF>7#t# =(th *o)F&8A 4(t6&78A 8cho7&8t(c(8F &n* F2tho7o)2. Et #:#nt6&772 1#c&F# *(//#4#nt(&t#* (nto t=o 8choo78N M&h&2&n& &n* I(n&2&n&. Th# /o4F#4 =&8 Fo4#
)4&n*(o8# (n F#t&>h28(c8 &n M&h&2&n& #:#nt6&772 )4#= coF>7&c#nt =(th (t8 &18t468# 82F1o7(8F. Th# t#&ch(n)8 o/ th# 7&tt#4 8choo7 =#4# Fo4# 8t4(ct &n* to th# >o(ntA &n* 2#t too conc#4n#* &1o6t th# F#4# Fo4&7 *(8c(>7(n# =h(ch 1#c&F# (nc4#&8(n)72 Fon&8t(c. Th68 th# #88#nt(&7 &n* o4()(n&7 n6c7#68A n&F#72 th# #8ot#4(c *oct4(n# o/ th# #n7()ht#nF#ntA =&8 &7Fo8t 7o8t.


Kt th(8 c46c(&7 t(F# 0#n &>>#&4#*A *#c7&4(n) th# 68#7#88n#88 o/ th#8# 8oPc&77#* F#tho*8 &n*
>4oc7&(F(n) th# *oct4(n# o/ 8&to4(. D&to4( (8 & /6n*&F#nt&7 (nn#4 #:#ntA & 86**#n #.(8t#nt(&7 14#&<th4o6)hA co44#8>on*(n) (n #88#nc# to =h&t E h&:# c&77#* th# G&=&<#n(n)G. 36t th(8 /o4F67&t(on
=&8 n#= &n* o4()(n&7 &n* (t con8t(t6t#* & 4&*(c&7 ch&n)# (n &>>4o&ch. R(4:&n&A =h(ch h&* 1##n
:&4(o6872 con8(*#4#* &8 th# &77#)#* Roth(n)n#88A &8 #.t(nct(onA &n* &8 th# /(n&7 #n* 4#867t o/ &n #//o4t &(F#* &t o1t&(n(n) 7(1#4&t(on L=h(ch &cco4*(n) to 8oF# F&2 4#J6(4# Fo4# th&n on# 7(/#t(F#MA no= c&F# to 1# con8(*#4#* &8 th# no4F&7 h6F&n con*(t(on. 32 th#8# 7()ht8A #:#42 >#48on h&8 th# n&t64# o/ 36**h& &n* #:#42 >#48on (8 &74#&*2 7(1#4&t#*A &n* th#4#/o4#A 8(t6&t#* &1o:# &n* 1#2on* 1(4th &n*
*#&th. Et (8 on72 n#c#88&42 to 1#coF# &=&4# o/ (tA to 4#&7(@# (tA to 8## =(th(n on#H8 n&t64#A &cco4*(n) to 0#nH8 F&(n #.>4#88(on. D&to4( (8 7(<# & t(F#7#88 o>#n(n) 6>. On th# on# h&n*A 8&to4( (8 8oF#th(n)
86**#n &n* 4&*(c&772 *(//#4#nt /4oF &77 th# o4*(n&42 h6F&n 8t&t#8 o/ con8c(o68n#88Q (t (8 7(<# & c&t&8t4o>h(c t4&6F& =(th(n o4*(n&42 con8c(o68n#88. On th# oth#4 h&n*A 8&to4( (8 =h&t 7#&*8 on# 1&c< to =h&tA (n & h()h#4 8#n8#A 8ho67* 1# con8(*#4#* &8 no4F&7 &n* n&t64&7Q th68A (t (8 th# #.&ct o>>o8(t# o/ &n #c8t&8(8A o4 t4&nc#. Et (8 th# 4#*(8co:#42 &n* th# &>>4o>4(&t(on o/ on#H8 t46# n&t64#N (t (8 th# #n7()ht#nF#nt =h(ch *4&=8 o6t o/ ()no4&nc# o4 o6t o/ th# 861con8c(o68 th# *##> 4#&7(t2 o/ =h&t
=&8 &n* =(77 &7=&28 1#A 4#)&4*7#88 o/ on#H8 con*(t(on (n 7(/#. Th# con8#J6#nc# o/ 8&to4( (8 & coF>7#t#72 n#= =&2 to 7oo< &t th# =o47* &n* &t 7(/#. To tho8# =ho h&:# #.>#4(#nc#* (tA #:#42th(n) (8 th# 8&F# Lth(n)8A oth#4 1#(n)8A on#H8 8#7/A Gh#&:#nA th# 4(:#48 &n* th# :&8t #&4thGMA &n* 2#t #:#42th(n) (8 /6n*&F#nt&772 *(//#4#nt. Et (8 &8 (/ & n#= *(F#n8(on =&8 &**#* to 4#&7(t2A t4&n8/o4F(n) th# F#&n(n) &n* :&76#. Kcco4*(n) to th# 0#n M&8t#48A th# #88#nt(&7 ch&4&ct#4(8t(c o/ th# n#= #.>#4(#nc# (8 th# o:#4coF(n) o/ :#42 *6&7(8FN o/ th# (nn#4 &n* o6t#4Q th# E &n* not EQ o/ /(n(t6*# &n* (n/(n(t2Q 1#(n) &n* notP1#(n)Q &>>#&4&nc# &n* 4#&7(t2Q G#F>t2G &n* G/677GQ 8618t&nc# &n* &cc(*#nt8. Knoth#4 ch&4&ct#4(8t(c (8 th&t &n2 :&76# >o8#* 12 th# /(n(t# &n* con/68#* con8c(o68n#88 o/ th# (n*(:(*6&7A (8  no 7on)#4 *(8c#4n(17#. Kn* th68A th# 7(1#4&t#* &n* th# nonP7(1#4&t#*A th# #n7()ht#n#* &n* th# nonP #n7()ht#n#*A &4# 2#t on# &n* 8&F# th(n). 0#n #//#ct(:#72 >#4>#t6&t#8 th# >&4&*o.(c&7 #J6&t(on o/ M&h&2&n& 36**h(8FA n(4:&n&P8&F8&4&A &n* th# T&o(8t 8&2(n) Gth# 4#t64n (8 (n/(n(t#72 /&4G. Et (8 &8 (/ 0#n 8&(*N 7(1#4&t(on 8ho67* not 1# 7oo<#* /o4 (n th# n#.t =o47*Q th# :#42 =o47* (8 th# n#.t =o47*Q (t (8 7(1#4&t(on &n* (t *o#8 not n##* to 1# 7(1#4&t#*. Th(8 (8 th# >o(nt o/ :(#= o/ 8&to4(A o/ >#4/#ct #n7()ht#nF#ntA o/ Gt4&n8c#n*#nt =(8*oFG L>4&jn&>&4&F(t&M


3&8(c&772A th(8 con8c(o68n#88 (8 & 8h(/t o/ th# 8#7/H8 c#nt#4. En &n2 8(t6&t(on &n* (n &n2 #:#nt o/ o4*(n&42 7(/#A (nc76*(n) th# Fo8t t4(:(&7 on#8A th# o4*(n&42A *6&7(8t(c &n* (nt#77#ct6&7 8#n8# o/ on#H8  8#7/ (8 8618t(t6t#* =(th & 1#(n) =ho no 7on)#4 >#4c#(:#8 &n GEG o>>o8#* to & GnonPEGA &n* =ho t4&n8c#n*8 &n* o:#4coF#8 &n2 &nt(th#8(8. Th(8 1#(n) #:#nt6&772 coF#8 to #njo2 & >#4/#ct /4##*oF &n (nco#4c(1(7(t2. I# (8 7(<# th# =(n*A =h(ch 17o=8 =h#4# (t =(778A &n* 7(<# & n&<#* 1#(n) =h(ch (8 #:#42th(n) &/t#4 G7#tt(n) )oG P&1&n*on8 #:#42th(n)A #F14&c(n) >o:#4t2.

0#nA o4 &t 7#&8t F&(n8t4#&F 0#nA #F>h&8(@#8 th# *(8cont(n6o68A 86**#n &n* 6n>4#*(ct&17# ch&4&ct#4 o/ 8&to4( *(8c7o864#. En 4#)&4* to th(8A D6@6<( =&8 &t /&67t =h#n h# too< (886# =(th th# t#chn(J6#8 68#* (n I(n*6 8choo78 86ch &8 D&F<2& &n* To)&. Th#8# t#chn(J6#8 =#4# &78o cont#F>7&t#* (n #&472
36**h(8t t#.t8. D6@6<( #F>7o2#* th# 8(F(7# o/ =&t#4A =h(ch (n & FoF#nt t64n8 (nto (c#. I# &78o 68#* th# 8(F(7# o/ &n &7&4FA =h(chA &8 & con8#J6#nc# o/ 8oF# :(14&t(onA 86**#n72 )o#8 o//. Th#4# &4# no
*(8c(>7(n#8A t#chn(J6#8 o4 #//o4t8A &cco4*(n) to D6@6<(A =h(ch 12 th#F8#7:#8 F&2 7#&* on# to 8&to4(. On th# cont4&42A (t (8 c7&(F#* th&t 8&to4( o/t#n occ648 8>ont&n#o6872A =h#n on# h&8 #.h&68t#* &77 th# 4#8o64c#8 o/ h(8 1#(n)A #8>#c(&772 th# (nt#77#ct &n* 7o)(c&7 /&c67t2 o/ 6n*#48t&n*(n). En 8oF# c&8#8
8&to4( (t (8 8&(* to 1# /&c(7(t&t#* 12 :(o7#nt 8#n8&t(on8 &n* #:#n 12 >h28(c&7 >&(n. Et8 c&68# F&2 1# th# F#4# >#4c#>t(on o/ &n o1j#ct &8 =#77 &8 &n2 #:#nt (n o4*(n&42 7(/#A >4o:(*#* & c#4t&(n 7&t#nt
>4#*(8>o8(t(on #.(8t8 (n th# 861j#ct.


U#)&4*(n) th(8A 8oF# F(86n*#48t&n*(n)8 F&2 occ64. D6@6<( &c<no=7#*)#* th&t G)#n#4&772 8>#&<(n)A th#4# &4# no (n*(c&t(on8 on th# (nn#4 =o4< >4#c#*(n) 8&to4(G. Io=#:#4A h# t&7<#* &1o6t th# n#c#88(t2 o/ /(48t )o(n) th4o6)h G& t46# 1&>t(8F o/ /(4#G. K/t#4 &77A th# :#42 (n8t(t6t(on o/ th# 8oPc&77#* GI&778 o/ M#*(t&t(onG L0#n*oMA =h#4# tho8# =ho 8t4(:# to o1t&(n & 8&to4( 861F(t th#F8#7:#8 to & 4#)(F#n o/ 7(/# =h(ch (8 >&4t(&772 &n&7o)o68 to th&t o/ 8oF# +&tho7(c 4#7()(o68 o4*#48A 1#8>#&<8 th# n#c#88(t2 o/ &
>4#7(F(n&42 >4#>&4&t(on. Th(8 >4#>&4&t(on F&2 7&8t /o4 8#:#4&7 2#&48. Th# #88#nc# o/ 0#n 8##F8 to con8(8t (n & F&t64&t(on >4oc#88A (*#nt(c&7 to th# on# (n =h(ch on# &7Fo8t 4#&ch#8 & 8t&t# o/ &n &c6t# #.(8t#nt(&7 (n8t&1(7(t2. Kt th&t >o(ntA th# 87()ht#8t >68h (8 86//(c(#nt to >4o*6c# & ch&n)# o/ 8t&t#A & 8>(4(t6&7 14#&<th4o6)hA th# o>#n(n) =h(ch 7#&*8 to th# G(nt6(t(:# :(8(on o/ on#H8 n&t64#G. Th# M&8t#48 <no= th# FoF#nt (n =h(ch th# F(n* o/ th# *(8c(>7# (8 F&t64# &n* 4#&*2 to o>#n 6>Q (t (8 t#n th&t th#2 #:#nt6&772 )(:# th# /(n&7. B#c(8(:# >68h. Th(8 >68h F&2 8oF#t(F#8 con8(8t o/ & 8(F>7#
)#8t64#A &n #.c7&F&t(onA (n 8oF#th(n) &>>&4#nt72 (44#7#:&ntA o4 #:#n (77o)(c&7 &n* &1864*. Th(8 86//(c#8 to (n*6c# th# co77&>8# o/ th# /&78# not(on o/ (n*(:(*6&7(t2. Th68A 8&to4( 4#>7&c#8 th(8 not(on
=(th th# Gno4F&7 8t&t#GA &n* on# &886F#8 th# Go4()(n&7 /&c#A =h(ch on# h&* 1#/o4# c4#&t(onG. On# no 7on)#4 Gch&8#8 &/t#4 #cho#8G &n* G8h&*o=8G. Th(8 6n*#4 8oF# &8>#ct8 14(n)8 to F(n* th# #.(8t#nt(&7 th#F# o/ G/&(764#GA o4 o/ G1#(n) 8h(>=4#c<#*G L*&8 Dch#(t#4nA (n V(#4<#)&&4* &n* (n 5&8>#48M. En /&ctA &8 E h&:# F#nt(on#*A th# o>#n(n) o/t#n t&<#8 >7&c# =h#n &77 th# 4#8o64c#8 o/ on#H8 1#(n) h&:# 1##n #.h&68t#* &n* on# h&8 h(8 1&c< &)&(n8t th# =&77. Th(8 c&n 1# 8##n (n 4#7&t(on to 8oF# >4&ct(c&7 t#&ch(n)8 F#tho*8 68#* 12 0#n. Th# Fo8t /4#J6#nt72 #F>7o2#* F#tho*8A on &n (nt#77#ct6&7 >7&n#A &4# th# <o&n &n* th# Fon*o. Th# *(8c(>7# (8 con/4ont#* =(th & 8&2(n) o4 =(th J6#8t(on8 =h(ch &4# >&4&*o.(c&7A &1864* &n* 8oF#t(F#8 #:#n )4ot#8J6# &n* G8644#&7(8t(cG. I# F68t 7&1o4 =(th h(8 F(n*A (/ n#c#88&42 /o4 2#&48A 6nt(7 h# h&8 4#&ch#* th# #.t4#F# 7(F(t o/ &77 h(8 no4F&7
/&c67t(#8 o/ coF>4#h#n8(on. Th#nA (/ h# *&4#8 >4oc##* /64th#4 on th&t 4o&* h# F&2 /(n* c&t&8t4o>h#A 16t (/ h# c&n t64n th# 8(t6&t(on 6>8(*# *o=nA h# F&2 &ch(#:# F#t&no(&. Th(8 (8 th# >o(nt =h#4# 8&to4( (8 686&772 &ch(#:#*.


0#nH8 no4F (8 th&t o/ &18o76t# &6tonoF2Q no )o*8A no c67t8A no (*o78. To 7(t#4&772 #F>t2 on#8#7/ o/ #:#42th(n)A (nc76*(n) Wo*. GE/ 2o6 F##t 36**h& on th# 4o&*A <(77 h(FGA & 8&2(n) )o#8. Et (8 n#c#88&42 to &1&n*on #:#42th(n)A =(tho6t 7#&n(n) on &n2th(n)A &n* th#n to >4oc##* /o4=&4*A =(th on#H8 #88#nc#A 6nt(7 th# c4(8(8 >o(nt (8 4#&ch#*. Et (8 :#42 *(//(c67t to 8&2 Fo4# &1o6t 8&to4(A o4 to coF>&4# (t
=(th :&4(o68 /o4F8 o/ (n(t(&to42 F28t(c&7 #.>#4(#nc# =h#th#4 9&8t#4n o4 ;#8t#4n. On# (8 86>>o8#* to 8>#n* on72 th# t4&(n(n) >#4(o* (n 0#n Fon&8t#4(#8. Onc# th# *(8c(>7# h&8 &ch(#:#* 8&to4(A h#

4#t64n to th# =o47*A choo8(n) & =&2 o/ 7(/# th&t /(t8 h(8 n##*. On# F&2 th(n< o/ 8&to4( &8 & /o4F o/ t4&n8c#n*#nc# =h(ch (8 14o6)ht to (FF&n#nc#A &8 & n&t64&7 8t&t#A (n #:#42 /o4F o/ 7(/#.


Th# 1#h&:(o4 =h(ch >4oc##*8 /4oF th# n#=72 &cJ6(4#* *(F#n8(onA =h(ch (8 &**#* to 4#&7(t2 &8 & con8#J6#nc# o/ 8&to4(A F&2 =#77 1# 86FF&4(@#* 12 X&o T@6H8 #.>4#88(onN GTo 1# th# =ho7# (n th#
>&4tG. En 4#)&4* to th(8A (t (8 (F>o4t&nt to 4#&7(@# th# (n/76#nc# =h(ch 0#n h&8 #.#4c(8#* on th# Y&4P 9&8t#4n =&2 o/ 7(/#. 0#n h&8 1##n c&77#* Gth# 8&F64&(H8 >h(7o8o>h2AG &n* (t h&* &78o 1##n 8&(*
th&t Gth# =&2 o/ 0#n (8 (*#nt(c&7 to th# =&2 o/ &4ch#42AG o4 to th# G=&2 o/ th# 8=o4*G. Th(8 F#&n8 th&t &n2 &ct(:(t2 (n on#H8 7(/#A F&2 1# >#4F#&t#* 12 0#n &n* th68 1# #7#:&t#* to & h()h#4 F#&n(n)A to & G=ho7#8oF#n#88G &n* to &n G(F>#48on&7 &ct(:(t2G. Th(8 <(n* o/ &ct(:(t2 (8 1&8#* on & 8#n8# o/ th# (n*(:(*6&7H8 (44#7#:&nc#A =h(ch n#:#4th#7#88 *o#8 not >&4&72@# on#H8 &ct(on8A 16t =h(ch 4&th#4 con/#48 c&F &n* *#t&chF#nt. Th(8 *#t&chF#ntA (n t64nA /&:o48 &n &18o76t# &n* G>64#G 6n*#4t&<(n) o/ 7(/#A
=h(ch (n 8oF# c&8#8 4#&ch#8 #.t4#F# &n* *(8t(nct /o4F8 o/ 8#7/P8&c4(/(c# &n* h#4o(8FA (nconc#(:&17# to th# F&jo4(t2 o/ ;#8t#4n#48 L#.). th# <&F(<&@# (n ;;EEM.


Th68A =h&t +.W. 56n) c7&(F8 (8 8(F>72 4(*(c67o68A n&F#72 th&t Z82cho&n&728(8A Fo4# th&n &n2 oth#4
;#8t#4n 8choo7 o/ tho6)htA (8 c&>&17# o/ 6n*#48t&n*(n) 0#n. Kcco4*(n) to 56n)A 8&to4( co(nc(*#8
=(th th# 8t&t# o/ =ho7#n#88A *#:o(* o/ coF>7#.#8 o4 (nn#4 8>7(tt(n)A =h(ch >82cho&n&72t(c t4#&tF#nt c7&(F8 to &ch(#:# =h#n#:#4 th# (nt#77#ctH8 o18t46ct(on8 &n* (t8 8#n8# o/ 86>#4(o4(t2 &4# 4#Fo:#*A &n*
=h#n#:#4 th# con8c(o68 *(F#n8(on o/ th# 8o67 (8 4#6n(t#* =(th th# 6ncon8c(o68 &n* =(th GX(/#G. 56n) *(* not 4#&7(@# th&t th# F#tho*8 &n* >4#86>>o8(t(on8 o/ 0#nA &4# #.&ct72 th# o>>o8(t# o/ h(8 o=n. Th#4# (8 no G861con8c(o68GA &8 & *(8t(nct #nt(t2A to =h(ch th# con8c(o68 h&8 to 1# 4#conn#ct#*Q 0#n 8>#&<8 o/ & 86>#4con8c(o68 :(8(on L#n7()ht#nF#ntA 1o*h( o4 G&=&<#n(n)GMA =h(ch &ct6&7(@#8
th# Go4()(n&7 &n* 76F(no68 n&t64#G &n* =h(chA (n 8o *o(n)A *#8t4o28 th# 6ncon8c(o68. Et (8 >o88(17# tho6)hA to not(c# 8(F(7&4(t(#8 1#t=##n 56n)H8 :(#=H8 &n* 0#nHA 8(nc# th#2 1oth t&7< &1o6t th# /##7(n) o/ on#H8 Gtot&7(t2G &n* /4##*oF =h(ch (8 F&n(/#8t#* (n #:#42 &8>#ct o/ 7(/#. Io=#:#4A (t (8 (F>o4t&nt to #.>7&(n th# 7#:#7 &t =h(ch th#8# :(#=8 &>>#&4 to co(nc(*#.


Onc# 0#n /o6n* (t8 =&2 to th# ;#8tA th#4# =&8 & t#n*#nc2 to G*oF#8t(c&t#G &n* to Fo4&7(@# (tA
>7&2(n) *o=n (t8 >ot#nt(&7 4&*(c&7 &n* G&nt(noF(&nG Ln&F#72A &nt(th#t(c&7 to c644#nt no4F8M (F>7(c&t(on8A &n* 12 #F>h&8(@(n) th# 8t&n*&4* (n)4#*(#nt8 =h(ch &4# h#7* 8o *#&4 12 G8>(4(t6&7G
>#o>7#A n&F#72 7o:# &n* 8#4:(c# to on#H8 n#()h1o4A #:#n tho6)h th#8# (n)4#*(#nt8 h&:# 1##n >64(/(#* (n &n (F>#48on&7 &n* nonP8#nt(F#nt&7 /o4F. W#n#4&772 8>#&<(n)A th#4# &4# F&n2 *o61t8 on
th# G>4&ct(c&1(7(t2G o / 0#nA con8(*#4(n) th&t th# G*oct4(n# o/ th# &=&<#n(n)G h&8 &n (n(t(&to42 ch&4&ct#4.


Th68A (t =(77 on72 1# &17# to (n8>(4# & F(no4(t2 o/ >#o>7#A (n cont4&8t to 7&t#4 36**h(8t :(#=8A =h(ch too< th# /o4F o/ & 4#7()(on o>#n to #:#42on#A /o4 th# Fo8t >&4t & co*# o/ F#4# Fo4&7(t2. K8 th# 4#P #8t&17(8hF#nt o/ th# 8>(4(t o/ #&472 36**h(8FA 0#n 8ho67* h&:# 8t4(ct72 1##n &n #8ot#4(c *oct4(n#. Et h&8 1##n 8o &8 =# c&n 8## 12 #.&F(n(n) th# 7#)#n* conc#4n(n) (t8 o4()(n8. Io=#:#4A D6@6<( h(F8#7/

=&8 (nc7(n#* to )(:# & *(//#4#nt &cco6ntQ h# #F>h&8(@#* tho8# &8>#ct8 o/ M&h&2&n&
=h(ch G*#Foc4&t(@#G 36**h(8F L&/t#4 &77A th# t#4F M&h&2&n& h&8 1##n (nt#4>4#t#* to F#&n GW4#&t [#h(c7#GA #:#n (n th# 8#n8# th&t (t #.t#n*8 to =(*#4 &6*(#nc#8A &n* not j68t to & /#= #7#ctM. E/ on# =&8 to /6772 &)4## =(th D6@6<(A 8oF# >#4>7#.(t(#8 on th# n&t64# &n* on th# 8co># o/ 8&to4( F&2 &4(8#. On# 8ho67* &8< =h#th#4 86ch &n #.>#4(#nc# F#4#72 &//#ct8 th# >82cho7o)(c&7A Fo4&7 o4 F#nt&7 *oF&(nA o4
=h#th#4 (t &//#ct8 th# onto7o)(c&7 *oF&(nA &8 (8 th# c&8# (n #:#42 &6th#nt(c (n(t(&t(on. En th&t #:#ntA (t c&n on72 1# th# >4(:(7#)# & :#42 4#8t4(ct#* n6F1#4 o/ >#o>7#.
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